IB HL Mathematics
Logarithm

Maximum Marks: 65

PART A

1) Find the least integer N such that 7" >10°given that log,, 343 =2.5353

loga logb logc

2) If
b-c c-a a-b

3) Prove that

1og,n =1+log,b

(a)
Iogab n

a+B

(b) Ifa* +b?* =7abthen log (Tj = %[Iog a+logb]

. log (1+1+i+ ...... ooj
4) Find the value of(0.2) #4816

5) Solve the following equation for X :

(a) a¥ (a2 +1) - (a3X +ax)a

(b) 3 87 6

(c) 4 +6* =9

(d) 22?2 —6* —2x 3% =0

(e) 16" % +16°°°* =10, 0 < x < 360

(f) log,, (98+\/x3 X —12x+36) =2

(g) log (2%)(_1} =x(log,,5-1)
(6) If Xand Y are real the solve the following;

log, x+log, y=2& x*+y=12
(7) Solve for Xand y :

2 =6Y8& 3 =3x 2"

1

(8) Solve for Xxandy : log, Xy =5& log, LEJ
2\Y

2

(9) Solve for X

X%((Iog2 x)ZJrIog2 x—%j _ \/z
PART B

(1) Solve the following system of equations.

, prove that a-b°-c® =1
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log,,, y =2

| 1
ogyﬂx_z

(2) Solve the equation log, (x+17)—2 = log, 2x

(3) Given that4In2—3In4 =—Ink, find the value ofk .

(4) Solve the equation 2°* —10x 2" +4=0, Xe R.
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